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  ) ن7(ا�0%/%�ء 
  ا'+Gال -أآ	7ة
?��A���� BC�$D Bت ا�?4د!4م ، �% �;%: �
&4ل ����9 اوآ	%7 ا��60!5 �/
&4ل1

�%+HدوG/ا� �IJ�aq/SO2aq            ;                      MnO4
-aq/Mn2+aq                                   SO4

2- 

  �G+Xل-Y�7آ	ا'+Gال ،ا�G� B0� #W�XدوH#  اآ+�J� :?� Vد�# اUآ	7ة-1-1
1-2-BC�$+ا ا�Z[� #&%?
   . اآ+V ا�/�Jد�# ا�
2-B
           : ��D #$&+Xم وو�` ا�+$�BC ا�+��� �6ت!�Z ا�
�اري �
/^ اUوآ	��%[ �� !40ن ا�

H2C2O4          →    CO2 + HCOOH                                                                                                                                                                                                           
                            
      B
  293K در�h #Hارة ا�4��0ن ا�/+40ن 7�Cوآ	l6++�7% ا�+$�BC �*%�س  �kh���h )M=90,0g/mol .(   �9/^ اUوآ	��%[   ���m=0,1606g*4م �

 5
Dو)Ao  1013hPa . وط�sا� tZزات ه4   �� ه�A&� ��4/ا� �k
  Vm=24,0L/molا�
   : �	k&# �� ا�7kول ا�+��� C&%]�# ا�/
?&yا��+�9

34,3  29,9  22,2  14,6  9,2  4,2  0  V(ml)  

4500  3400  2100  1200  700  300  0  t(s)  
2-1- 7H6%� اوJDا�+*7م x(t)�k

~# ��xاh	V(t) . V  �7{�# ا�� B7 آ�C    ت�~
  ا�7kول�
2-2-��
  . ��'+%�رك �	&� ���)x=f(t) V '( ا�/�
2-3- #~
  t=50 minا)+�+�D yآ%6# ا�X&%( ا�+$�7�C �&C ا�&
  t1/2ز�� �?: ا�+$�7h  BCد-2-4

2-5- �?�Uا �k
  ا�+��k#��وط �
?C B&%� �� نأ ا�4��0ن ا�Zي !/�0 وآ	%7  ا�����9 اh	V ا�
  
  )ن13(ا�$%G!�ء     

 �!�/D1)4ن(  

B�/!B0s1 ا�	ت ��H4� + �s+�D #%4ق4!# و �+4ا�� �I(�&	��� +4ي �&/�ء	1111  �
10101010
  .  

� GH�
  .AW%�ة� �+
# 7I?Dم ا�/�H4ت �
  G+[!νννν1111=16 Hz ا�]Gار �?7ر هtZ ا�/�H4ت �+�دد 

  ه� �J%6# ا�/�H4ت ا�/+4ا�%# �B6 و�7J ا�
�GH؟ �� -1
2- ��  �D �+؟زه�اإ��ه� ا�~�ه�ة ا�#��k+ا� tZل ه
'  
 . ا�/�H4ت �&/�H4ت ا�/+4ا�%# �B6 و �7J ا�
�GHأ�4ال��رن  -3
 .  �4Iل ا�/7hλλλλ1#H4د �6%��%� ا�*%/# -4
 �&/�H4ت ا�/+4ا�%# +�sرا� )�7hV1 #Cد -5
�&/�H4ت ا�/+4ا�%# ا�/	+4!# ا�/�sه7ة ه4 �4ل ا�/�D :C�;�. #H4دد ا�]Gاز -6

λλλλ2=5,6 cm 
6-1- V	hا#C�(  ر�s+�}اV2ت�H4/&� #%ا�/+4ا� .  
   ��ذا D	y+�+ ؟-6-2

�!�/D2)9ن(  
  λλλλ ا�&4ن و�4ل �H4+]�أ�hد!#�Gh# ر�%*#  �4ا)GH�h،�;�`�  �o�C =120µµµµm a  #Iا �� 

#��	� �&C 7H4D #��� �&C #&�//ا� #k%+ا�� �&C B?
��=1,5m D��  /آ #
  6�2%� �� ا�B0s ه�4 ا�$+
  �&# C&� ا���s#؟�� ا�~�ه�ة ا�+� �5�0 �� ا�
?4ل C&� ا��+%k# ا�//-1
  ��وط 7hوث هtZ ا�~�ه�ةاذآ� -2
3- )Cاوي أGا�$�ق ا� :!�JD θθθθ. 
4- )Cأ �%� #�
Jا� θθθθو aو λλλλ.   
5- �%� #Iا��ا� #�
J7 ا�Hاو θθθθ�� Bة وآ�%AW 40نD ��7�Caو Dو L#��sا� �&C #!Gا�/�آ #J*6ض ا��C #H4/4ل ا�� V	hا �� λλλλ5 أن/&C إذا L=1,6cm.  
 i1=30°            ا��H4 ا����� �&/4�4ر �Gاو!# ورودإ��ا�;4ء ا�hUدي ا�&4ن !?CA. B/4د!� C&� ا��H4 اUول �/4�4ر زاو!+���)B �$� ا�
�G# )ن5( 6
) B0s3ا�(  

   . ����	6# �&;4ء ا�hUدي ا�&4ن ا�/	+4n=1,612B/Jر !	�وي���دة ا��HGج ا�/B��J� 4/&� #�40 ا�0	�ر

�0	�ر اآ+V �4ا�%� د!�0رت -6-1�.  
  .�Cف �B��J ا�0	�ر و)( �$�ف-6-2
  .اذآ� ا�W�X%# ا�6?�!# ا�+� G%/D ا�/4�4ر-6-3
6-4- �&C دي ا�&4ن�hUر ا�;4ء ا�	7 �%/# زاو!# ا�0Hاو 

  .ا��H4 ا����� �&/4�4ر
  . ا�/	+B/Jا�;4ء ا�hUدي ا�&4ن�
�اف  7hد زاو!# ا-6-5
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